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JEE Mains Problems

l@l Axis of a parabola lies along X-axis. Ifits vertex and focus
» are at distances 2 and 4 respectively from the origin, on
the positive X-axis, then which of the following points

does not lie on it? (2019 Main, 9 Jan, 1) (2 SC49
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Axis of a parabola is y = x and vertex and focus

are at a distance v2 and 2V2 respectively

from the origin. Then, equation of the parabola
(2006, 3M)
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JEE Mains Problems
The equation of the directrix of the parabola
= 2 _ . — 03
Yy +4y+4x+2=01s (2001, 1M)
(a)x=-1 (byx=1
(©) x=—3/2 ) x = 3/2
lﬂl-l*ﬁ% = e X =
l51+ h[ﬁ +Y = —h-2 ¥, =
PR
+2) = 442
. 2 Eom of Deed, = X =o-
(_Lj-{'?d) - "'11[::(_.-——‘1:-)
2 (‘1":."_ =
V= Ak

(I:l = =

An Initiative by IARJSNEl



4 SAFALTA cowm

An Initiative by HRZITICH

JEE Mains Problems

- C+2fan— 2—}, 2‘6'0?'
i The curve described parametrically by abCt2fgn—cf "= b

2 2
x=t"+t+1,y=1t"—t+1represents (1999, 2m) = 442 (1) 1w - 1nl=4y)
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T The equation of a tangent to the parabola, x2 = 8y,
- which makes an a /519_6 with the positive direction of
X-axis, 18 3 Yok > 00
%) 08 (2019 Main, 12 Jan, II)
(a) y=xtanB - 2cotb \ﬂﬁ- x= ycot® + 2tan6

(c) y=xtanB+ 2cotb (d) x= ycot® — 2tan®
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I@I Phe slope of the line touching both the parabolas Jemmttg T ot
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If one end of a focal chord of the parabola, y* =16xis at
(1, 4), then the length of this focal chord is 2
(2019 Main, 9 April, ) p (02
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If the area of the triangle whose one vertexis at the vertex
of the parabola, y%+ 4(x - a?)=0 and the other two

vertices are the poMon of the parabola and
Y -axis, 1s 250 sq units, then a value of ‘a’ 1s

(2019 Main, 11 Jan, I1)
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I@ Let P be the point on the parabola, y? = 8x, which is at a Y= - e

minimum distance from the centre C of the circle,
fx2 +(y+ 6)2 = 1. Then, the equation of the circle, passing

/throggh.C and having its centre at Pis \ (2016 Main)
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E@ Let P be the point on the parabola, y 815, which is at a @E

Inlnlmllm distance from the centre C of the circle,
x +(y+ 6) = 1. Then, the equation of the circle, passing

throp,gh.C and having its centre at Pis \ (2016 Main)
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& 24)

T The locus of the mid-point of the line segment
&Y joining the focus to a moving point on the
parabola y®=4ax is another parabola with

directrix (2002, 1M)
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The length of the chord of the parabola x* =4y having

equation x — v/2y + 442 < 0is (2019 Main, 10 Jan 11)
@82 bW ()33 \(d) 643
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y= -0k

If the line ax + = ¢, touches both the curves x” + yi f S
and y? = 4J§x, then| c¢|1s equal to

(2019 Main, 10 April, 1)
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